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AtoHliveina eight storey building. The ground floor is numbered 1. gr\secut’__)i&al-p'@betically
named person n do not live next to each other. Number of person live between A and B is one less
than the number of person live between A and H. G i lives above H but below B. C lives on an
even numbered floor above E. One person live between A and F. D lives above C. Three person
live between D and E, who lives on an even numbered floor. Which of the following is su_ita\ble

for all the given blanks ? A\
P 5 2 B
V$ 7 P A ‘r((‘“ ‘
l. G lives below _ but not just above C. —_—

®y
I1.8%ves on an even numbered floor below B ffg@— = 5 A @
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E. None of these
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Q. What will be the code of “Remunerative” ?
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(Conditions:\
7 If any word starts with a consonant and ends with a vowel then give the vowel the code of the
consonant. o
X If a word starts with a vowel and ends with a consonant then interchange their respective signs.

ﬁ/lf a word has three or more repetitive letters then give ‘# code to the fourth letter.

4. If in a word the second letter is a consonant and second last letter is a vowel then give ‘%’ code to both
of them.

@ If any resultant has two or more same code after apply_i%gny or all of the above given condition then
interchange the codes of the flrst and last Ietters

Note: if more than one condition is applied then first apply condition 1 and so on.
— 4 —
H

i
Q. What will be the code of ”Remanérative” ?
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Q. What will be the code of “Unparagoned” ?
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Conditions:
™ If any word starts with a consonant and ends with a vowel then give the vowel the code of the

consonant.
~ZAf a word starts with a vowel and ends with a consonant then interchange their respective signs.
\% If a word has three or more repetitive letters then give ‘#’ code to the fourth letter.

Afin a word the second letter is a consonant and second last letter is a vowel then give ‘%’ code to both

of them.
@If any resultant has_ two or more same code after applying any or all of the above given condition then

interchange the codes of the first and last letters.

Note: if more than one conditioﬁmﬁcﬂ then first apply condition 1 and so on.
Q. What will be the code of “ r'fparagoné'd” ?
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Q. What will be the code of “Parsimonious” ?
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Conditions:
/. If any word starts with a consonant and ends with a vowel then give the vowel the code of the
consonant.
“. If a word starts with a vowel and ends with a consonant then interchange their respective signs.
\¥ If a word has three or more repetitive letters then give ‘#’ code to the fourth letter.
).’ If in a word the second letter is a consonant and second last letter is a vowel then give ‘%’ code to both
f them.
If any resultant has two or more same code after applying any or all of the above given condition then
Interchange the codes of the first and last letters.
Note: if more than one condition is applied then first apply condition 1 and so on.

Q. What will be the code of “Parsimonious” ?
Farsimonious
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Only Il is redundant %

Only Il'is redundant
Only I is redundant
All are redundant
None of these
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Which of the following statement is redundant to answer the question.

A to F were sitting around the triangular table in such a way that one person sit at each corner
and one person sit at each edge of the table. All of them are facing inside. Who sits second to
the left of E ?

l. E sits immediate left of B, who does not sit next to C, who sits at corner.

Il. One person sit between B and A, who does not sit at corner.

lIl. D sits immediate left of F, who does not sit at corner.

%Only Il is redundant /_\
. Only Il'is redundant
Only I is redundant

All are redundant
None of these
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Which of the following statement is redundant to answer the question.

A to F were sitting around the triangular table in such a way that one person sit at each corner and one
person sit at each edge of the table. All of them are facing inside. Who sits second to the left of E ?

E sits immediate left of B, who does not sit next to C, who sits at corner.
(11)One person sit between B and A, who does not sit at corner.
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Which of the following statement is redundant to answer the question.

Ten persons are sitting in two parallel row in such a way that in row 1 — A to E are sitting facing
north and in row 2 — P to T are sitting facing south. Who faces E ?

I. Two person sit between C and E. D sits in the middle. \//

Il. B sits third to the right of A. Q faces A. R sits immediate left of Q.

lll. One person sit between T and R. T does not sit next to S.

A. Only lll is redundant

B. Only lis redundant

C. Only llis redundant
. All are redundant

E. None of these
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Which of the following statement is redundant to answer the question.
Ten persons are sitting in two parallel row in such a way that in row 1 — A to E are sitting facing north and

in row 2 — P to T are sitting facing south.@ho faces E 5) (7 )
a wo person sit between C and E. D sits in the middle. .
m B sits third to the right of A. Q faces A. R sits immediate left of Q. ‘
lll. One person sit between T and R. T does not sit next to S. @F
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Eight person were born in different years i.e. 1986, 1982, 1980, 1977, 1974, 1965, 1970, 1971. Calculation
are done according to the base year 2022. Each of them speaks different language. The age of the person
who speaks Urdu is in multiple of 7. At least three person were born between the person who speaks
Urdu and P. The person who speaks English was born_before U but after the person who speaks Hindi and
Tamll The age of the person who speaks Hindi is not_in_multiple of 3. L was born after the person who
s;Lemss_Marwadl and T but before W and the person who speaks Punjabi. Difference of agi age between
person who speaks Tamil and U is a perfect square. The person who speaks Tamil was neither born in 1965
nor in an even n_t_xmt)_g;e_d_year. V and R do not speak Tamil. Number of persons born bifore the person
who speaks English is same as the number of persons born after Q. Q does not speak Hindi and also was
not born in an even numbered Vear. The person who speaks Gujrati was born before S but after the
person who speaks Malyalam. The person who speaks Mg!yalam neither born in 1965 not after the person
who speaksPu/njabi.]-P/(k)es not speak Marwadi. "\
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(X) Means1 less than half of th,e ageof V.= 3
(B) Means 5 more than the age of R. = 6

(C) Means the one who was born in 1971. ﬂf
(D) Means the one who was born in 1986 S
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Q. Who was born in 1982 ? Q. Sum_ich,e,ages of the persons who were born adjacentto V ?
AT — A. 108 - —
B. V (VD @ B. 100 D
LW C._78 (
D.R /96
E. Can’t be determined E. Can’t be determined

~

Q. How ma/n\—/ persons were born between R and the person who speaks Malyalam ?

J @ é) o is Ahe N
C. 4 ("

D. 5

E

& ? )
Can’t be determined 7 cr

Q. Find the odd one oyt ? S B
/

A. Q- Malyalam o )

B. V-—English \

C. U-Urdu

D. W -—Gujrati

E

S — Punjabi
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Certain number of boxes are placed in three room i.e. 1, 2 ad 3. Room 1 is in west of room 2, which is in west of
room 3. Each room has different number of racks and_the maximum number of racks in the room can have is 7.
One box is placed in_each rack and each box has different number of bottles. Only two boxes have the same
number of bottles and tl they are placed in different rooms. The height of each of the rack in each Toom is_ same.
The lowermost rack is numbered 1. All boxes are mentioned below in the paragraph and no boxes are vacant nor

— e S -— — —
unknown.

Condltlons:?

@ The number of bottles in the box which are placed in room 1 is a consecutive multiple of 7 starting from 7.

2. The number of bottles in the box which are placed in r_o_om 2 is a consecutive multiple of 10 starting from 10.

3. The number of bottles in the box which are placed in room 3 is a consecutive multiple of 3 starting from 3.

C has 9 bottles and is placed two boxes above E, which has 6 bottles more than S. E has three bottles more than J,
which is placed in north east of F, which has 7 bottles. A has 30 bottles and is placed in west of Q_.l_aMare
placed next to each other. K does not have the lowest number of bottles R is placed below H, which'is placed
below the box which has 35 bottles. . Only one b—ox’céntams 42 bottles, which is hich is the maximum 1 number of any box.
U has 20 bottles and is pIaced in south east of F. _U/ls_placed in thgg)_gm_q_s_t_rack Q has 28 bottles and is placed
just below |, which is s not placed next to G. One of the boxes WhICh is placed in west of S has 21 bottles. S has 12
bottles. T has 30 bottles more than B, which is placed just above T but is not placed next to U. G is placed in west

of P, which has 21 bottles and is p| placed four boxes above S. o
m Above below means same room. é" %
- s /—\







Q. How many boxes are placed in three rooms together ? _Q.. Box H contains how many bottles ?
A. 16 - 7 A 14
& o1 (E)
D. 19 C. 40
E. None of these D. 42
';%an t be determined

Q. What is the position of box B with respect to box contains 14 bottles ?
e
A. North west

B. South west
North east
/ South east

None of these

Q. What is the sum of the bottles in box Rand D ?
A. 32 - -

54
zi o O
D. 42
E.

None of these



